3.3
Practice - Absolute Value Inequalities

Solve each inequality graph its solution and give internal notation.

1) |n|<—11 45) |9]2 — 10n| — 8> 100
3) b| < 2) 2| <7
5) x| >5 4) o] <2
7) 10[n| > 30 6) 10]a| =30
9) —3|z|<36 8) 8Ik|<—
11) [n|+4>—5 10) 7fa| >
13) 10— 8|p| > 18 12) 10 + 8|k| >34
15) ofn| — 3> 42 14) 10|z |+ 5 > 45
17) | 16) |1 >2
19) 9+ 2| > —2 18) fn =6[> 11
20) [b+8] =9
2) |5 25 i
22) >4
23) 7| = Te| > 98 24) =7+ |—5a]>8
25) =5+ =8k =51 26) 4+ 6|2| > 13
27) 8 —4[5] > 12 28) [n — 3|+ 4> 15
29) 7| =9+m|+3 =66 30) — 10| —3+r|+2>—18
31) [3n+10] < — 26 32) |62+ 10| < 28
33) [10b+4-10[ > 70 34) [8v 41| > 23
35) [—=10+z|>8 36) —3+|—6n+1|>—74
37) |-10+a|=3>7 38) |6+ 3k| —4>14
39) 32 —1]—9< —8 40) |10z + 4| — 7 < 39
41) —8|8n —1|+4>—116 42) 4| —1-9k|+7<—33
43) —10+49|3p—9| < —37 44) 5| —z—9| =105
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3.3

Answers - Absolute Value Inequalities
1) No Solution: @
2) No Solution: ©
3) No Solution: ©
4) —2<v<2:[—2,2]
6) a=>3ora<—3: (—o0,— 3| [3,00)
7)n>3orn<—3:(—o0,—3)J (3,00)

8) No Solution: @

)

)

)

)
5)x>b5orz<—5:(—o00,—5)J (5,0)
)

)

)

9) {All real numbers.} : R

10) z>4orz<—4: (—o0,—4]J [4,00)
11) {All real numbers.} : R

12) k=>30rk<—3: (—o0,— 3] [3,0)

13) No Solution: @

14) z>4ora<—4: (—o0,—4]J [4,00)

15) n=zborn<—5: (—o0,— 5] (5,00)
16) r>10orr<—10: (—o0,—10)J (10, c0)
17) {All real numbers.} : R

18) n>17orn<—5: (—o0,—5)J (17,00)
20) b>1orb,=—17: (— o0, — 17| [1, 00)

)
)
)
)
)
)
)
)
)

19) {All real numbers.} : R
)

21) v=8orv< —22: (— o0, —22] U [8,00)
)
)
)
)
) P
)
)

22) x>23%0orx < —41 : (— o0, —41] [39, 00)
23) x> —20rz>2: (—o0,—2| [2,00)

24) a<—3ora>3:(—o0,—3)J (3,00)
25) k>—Tork>7:(—o0,— 7 [7,00)

26) p=3orp<—3: (—o0,—3]U [3,0)
27) No Solution: @

28) n=>1dorn<—8: (—o0,— 8 [14,00)



29) m>18orm <0 : (—o0,0] [18,00)
30) 1<r<5: [L,5]
31) No Solution: @
19

32) — 2 <r<3: [+, 3]
33) b>60rb<—8: (—o0,—8)J (6,00)

11 11
34)v>orv<—3: (—o0,—3]U [, 0)
35) > 18o0rzx <2 : (—o00,2]J [18,00)
36) {All real numbers.} : R
37) a>200ra<0: (—o00,0] [20,00)
38) k>dork<—8: (—o0,—8) (4, 00)

2 1o 2

39) 0< e < 2:[0,2]

42) No Solution: @

44

) -
)N

43) No Solution: @
Jr<—120rx>—6: (—o0,— 12| [—6,00)
)

n<—1orn>— (—o0,—1){J (£, 00)

45 5
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